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a  Source:

i Nwp 7w (v. 1) — gematria of 30
ii ~ &79 7229 times the root 711 appears in "N

1

challenge: several of these appearances are needed for their own nw T
(a) answer: many are used for mwT; however, since the others are there for the count, these count as well
challenge: our niwn stipulates 30 days (not 29)
(a) answer: since he shaves on day #30, the Xin used that number (i.e. it isn’t 30 full days)
challenge: later nmwn (3:1) rules that if a person takes m7°11 he shaves on day #31
(a) answer: look at 890 —if he shaved on the 30" day, that is valid
(b) explanation: the Xw» is considered as if he said “30 complete days”
(c) note: Ra*0 is a challenge to Rann 19
(i) Defense: 15133 0y nxpn
Challenge (to both): end of 3:1 -if he states 01’5 711 )70 and shaves on day #30, invalid
(a) answer: must be a case where he stated “complete days” (and n1n n¥pn cannot attach)
challenge: from mwn 3:2 — if he declared two consecutive N1 — he shaves on days #31 and #61
(a) answer: look at ®a>0 — if he shaved on day #30, he shaves on day #60
(b) explanation: the XW» is considered as if he said “complete days”
(c) note: RO s a challenge to Xinn 29
(i) Defense: 19133 myn nxpn
(ii) Challenge: already taught (above, #3)
(iii) Answer: teaches that nyn n¥pn can apply to the bridge between 2 consecutive nym
Challenge: from continuation of 3:2 — if he shaved on day #59 —valid, since the bridge day counts for both
(a) Answer: 81991 used this ruling (and explanation) as his basis
Challenge: next mwn ( 3:3) —a 711 who became &nv on day #30 loses all 30
(a) Answer:look at R90 — X" maintains that he only loses the 7 days of nnv
(b) Explanation: evidently, X"y maintains that my11 is over after 29 days, and he must wait 7 to bring niaip
(c) Response (x2np 77): 8™ must hold 19135 0yn n¥pn and at the 1st moment of day #30 he was done
(d) Challenge: next nmwn (3:4) — if he was a 11 for 100 days and became &nv on last day, X" says he loses 30
(i) Lemmal:if ®™ holds 15133 nyn n¥pn — should cancel only 7
(ii) Lemma2:if 8" doesn't hold 19133 DY’n n¥pn — should cancel all 100
(iii) Rather: " doesn't hold 19135 ny’n n¥pn — reason for only losing 30 as per nw17 on v. 4 — if he becomes
defiled on the day of mxYn, give him minimal nmy'11 (30 days)
Suggestion: perhaps Rinn "1/R78 72 parallel WX /1M ™
(a) /wA’ 77 learns length of mn of M from »19 51 (v. 1) > 30 days
(b) 11297 7. learns length of my1 from mron (v. 4) > could be 29 (lunar month)
(c) (xamp 79) all agree to 30; W’ "1 understands Ty as Y931 7» ®% 7Y (non-inclusive), needs 19 Y to get to 30
(d) note: on pri? *7s 7w717— days that need to be completed can only refer to month, which has a missing piece;
the week has nothing missing and a year, which may, isn't reckoned by days (as per v. 5)
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